Problem A

King’s chests


Source file: chest.c, chest.cc, chest.pas

Background

Locksmith Zoltán was telling the story: “The king kept his gold and diamonds in a number of wooden chests. He had several keys for the chests (he can also have no key for some of them). Each chest was equipped with a special lock which locks automatically after closing the cover of the chest. In order not to carry all the keys the king stores some of them in chests with his jewelry. Once, with all the chests opened, he dealt with the kingdom’s finances. Unfortunately, all of his keys were in the chests when the very strong wind blew and closed all of the chest covers. After the covers were closed, the chests remained locked. So the king had to ask the most skillful locksmith,” Zoltán nodded his head to emphasize that he is speaking about himself and continued, “to help him open his locked chests. Fortunately, the king remembered which keys lay in which chests so after I thought a bit it was not necessary to open all the chests violently.”

The problem

Write a program that finds out the smallest number of chests that Zoltán must open violently in order to open all the chests.

Input

On the first input line (from standard input) there are two integers h (1< h < 100), k (0 < k < 1000) where h is the number of chests and k is the number of keys.  Next k lines describe keys. In the line i+1 there are two integers ai bi (separated with single space) describing i-th key where ai is number of the chest in which i-th key is stored and bi is number of the chest that can be opened by i-th key.

Output 

In the output there will be one integer – the number of chests the locksmith had to open violently.
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